BMihpFE BAIT=RA& 5AKE BEYSRAAULR
< H30.5/12(%) : BKG7T=22—k >

2 " : :
©¢+EG)EB(?»1% 1-7) ‘ 161'1—7 1] 7 [ 11 | ik |Es:
1 2] 3| 4 |BK|Esk —H Kt wEO—Y  |f1
(| K wEO—  |d1 T arms BEO— |d1 60 | 62| 2-0( 1
il BEO— |di 64 61160|3-0) 1 ZARBE | mEa
A ORE | =ETc w2 7| ZEARE | EREIS |R2 o |\ 62| 1-1] 2
2| =@ @i ZmTe ol 46 75|62 | 2-1| 2 R ;;;J ik
NECE L RE = 1) B sex | nwro  |ws| 2626\ 02 3
M3t 28 | ILrAi—7o || 16|97 611-2| 3
EH X | HRYY— (&1 > ‘ =
4| e i I 06| 26| 16|\ |0-3| 4 21— 2 | 8 | 12 | B RE
AR AR | MRT)— |® , | AR KR Z@ETC |2 53| 06
B &H B3 HETC |2 wol 171138
5 6 | 7 | 8 |MER|IEL BE Wt | ILRH—T |h1
5| AW E | ERIU—v |®2 8 Exooi | Iras—7o w1 36 621 1-1] 2
G TE | HEITU— |@1 612616 1-2( 3 T 77
ERREIZ | &mTc | 2] LE Ba | Yiotar [1lwel 28\ 71|
6 = A %J:E\ :Z':EEITC 1 16 06 06l0-3] 4 WA ER ARy [HR1lwo
% RNHR s =7 —
| B ES Eartc |m| 62| 60 0130 1 34ll—7 3 5 [ 9 BRIk
=< s (6) KE B | ILRA—T o
g| BH #th | ILRH—TFY o1 67 S| m# #E | ILRH—F |wa 60| 61120 1
Exanix | ILar—7o |w1] 81|80 @) 2-1| 2 = ‘
o XE TE | HRYU— [b 0-2 3
9 | 10| 11 | 12 | BEEK |IEf Bl A team S4A [$h3
ER A s4 9 = = 16 | 63 1-1] 2
9| Bk B | i oan |me] \| (5| 36|57 [ 12| 3 AR BE | team S4A B0
AR i STSS AT —77 =
10 s EA STes | (657) 06126/0-31 4 =m mljl(-ﬁ'['l 7_ 4 | 6 110 | WPl Rt
i, T 4| ZH A BETVLRIN 61| 60 | 2
MR R 6| 'gh mm | =mro  |ea| 18] \[06]0-2| 3
LA B3 | wAok9 |@a| 9] 62116 2-1| 2 f = =
10 AR iR STSS B1| 60 | 06
518 BX STSS |6 =11 2




EihvihFE AfIT=2A& S5RAE BESRAF7ILR

< H30.5/12(x) : BRB7T=R2—h >

O OBR(Fisf I—77)
A

1 2 3 4 RSB | NE4SL
o X {EIBEBLTC | /5 ~
"1 iEm miR | #EELTC |Ms 06 | 61| 61| 2-1 | 2
BIK IR STAC N _
2 /E?-%%KEB STAC ING 60 60 61 3 0 1
WmF Bz BMRIY—> |5 ~
| Yy wx | meru—> |as| 16 | 06 57 | 0-3 | 4
XE BA team S4A | I\5 ~
4 *E;I’ J%?Lﬁ toam oan |mal| 16 | 16 | 75 1-2 3
B 5 | 6 | 7 | 8 | B | IBM
NI Bt team S4A |/\5 B
° KXHE HE t::m S4A | /6 06 | 26 | 06 0-3 4
MHE & NWTC ING -
Ol @x 1E nwie | me| 60 60 | 61 | 3-0 | 1
INFK BN FETC NS j
"\ mg s | #meto |ms| 62 | 06 36 | 1-2 | 3
HH<)T7 STAC ING ~
8| Tqimz | nwro |as| 60| 16| 63 2-1 | 2
<iRiFEE >
o K FK STAC /M4
A BB AHER STAC ING ok A B
¢ HEH A NWTC /5 61
®/AR HEE NWTC ING
<Z=IREH>
;WO X EIBELTC /5
1Eik Imin {EIEBLSLTC /M5 Hit. b
8 HE<U7T STAC ING 75
JZEFEEE% NWTC ING
< AMLRER>
4 K BA team S4A /N5
KA Mo team S4A /6 INA-E B
] INE EAN FHETC ING 62
EB #ER FETC ING
<EGHiREH>
s WT BEZE  HRJU—V 5
T8 X HWRJU—> N5 ME L a::
5 J||5§E *@‘H_’, team S4A /5 62
KH WHE team S4A IN\6




E®MihFEE AMIT=2A2& S5AAES B8R >7ILR
< H30.5/12(1) : RjT=22—h >

. o
F SF 2R 1R 1R 2R 3R SF F
1 1 f8lU BE JLRH—FY 4
3T ks ik
52 5 2 GAIF BAIR STSS /4 =
3 ik ELR EIBALTC /I3 60
o0 4 BiA HEE§ PARQUE SC /h4 61
4
o EJ”:FZ;% STSS ING | 62
62 6 B b JLRA—TL ha—, |60
7
7 R £EE NWTC /4 61
o 8 8 IEH B SHIZYY IN3— 60
g += Ss o
63 0 9 HT ZEfe  ER—=2TC /4 5
10 K EF NWTC /M 64
63 11 *%ZF ;-E'ZTE team S4A /N3 63
R s = 76(3)
63 12 }ﬁ7k I j,( STAC Ih2 57
L 45 = ~
A 13 13 KT K#th  K#39> I3 -
o — 14 14 K#& BHl PARQUE SC /M3 62
L iz 7o EpE— 0
64 15 15 *E oo = 5-_1‘.51?{ /\ NG 50
16 i%EE E team S4A /I3 | 63
o4 17 KW 8 m#s5YY e 60
17
e h{= N 60
63 18 HEE“ IL‘.\1= {EI]E::LTC N 50
19 19 HE FE NWTC NG ——— |
63 20  AK HE NWTC /M4 64
20
21  FRE M TLRATA ha— 64
60 22 AT EIE PARQUE SC /M4 63
22
23 At RE H—SiEl  ha— 62
63 24 3K FEE TLRA-TY 4 63
24
61 25 RIFF AKX BEA—> /M 63 =3
26 26 F1H X WishTC /N3 —— |
— 12 jB/K X STAC M2—— .
< =Z(IRTEE > . - | EGS
18 4R HB{E  kBALTC /4




